2018-2019 A REM T/ M EmMEL BT RER (RithiR)
= ok | [eok| | Zi AR P
235 = B IR | BeEh ke) | | RE s i|F|\F |0 S
(X) (%) | g | ) |y | K| 7| 7| ||
B | 1 | BFEM002| 1.2 378.8 7.9 10 [100.0 | 0.0 1 | MS| HR | MS|MS]| HS
BHuH | 2 I 2505 1.3 379.0 7.3 10 [100.0 | 0.0 2 | MS| HR | MS [MR| MS
b |3 %726 0.4 353.0 4.5 8 | 80.0 0.0 3 |MR| MR | MS|MS| HS
P | 4 #4523 | -0.1 361.2 4.5 9 [90.0 | 00 3 [MS| MR |MS|[MS|HS
P | 5 1#HR33 -0.6 352.0 4.2 8 | 80.0 | 00 5 [MS| MR | MS[MS| HS
e | 6 41999 0.0 365.0 4.0 8 | 80.0 | 00 6 | MS| HR | MR|MS|MS
BHu | 7 HFE1215 | 05 363.4 29 6 | 60.0 | 0.0 7 [MR| HR [ MS [MS| HS
b | 8 Hh 241 14 345.8 2.3 7 1700 0.0 8 | HS| HR | MS |MS| HS
B | 9 56,77 168 1.2 352.3 1.1 6 | 60.0 0.0 9 [MR| MS | MS |MS| MS
Hiuhsg | 10 | (E =163 1.0 347.0 0.3 6 | 60.0 | 0.0 10 | MS | MS | MS [MS| HS
b | 11 477996 1.1 349.7 -0.4 6 | 60.0 0.0 11 [ MS| MR | MR|MS| HS
el | 12 | 278 0.5 343.9 -2.0 4 | 40.0 0.0 12 | MR| MR | MR|MS| HS
Huhsg | 13 | H:JR339 1.3 343.3 2.2 5 | 50.0 0.0 13 | MS | HR [ MS [MS| HS
e | 14 | #1343 0.9 338.2 2.2 4 | 40.0 0.0 13 | MR| HR | MS|HR| HS
HihaH | 15 | #E=FE136 1.6 337.9 2.3 5 | 50.0 0.0 15 | MR| HR | MS |MR| HS
HiuhsH | 16 | (EF138 0.9 3394 -3.9 3 1300 00 16 | MS [ HR [ MS [MR| HS
B | 17 | K357 0.3 3245 -4.0 4 | 40.0 0.0 17 | MS| HR | MS|HR| HS
HuhsH | 18 | 525881 0.3 336.3 4.2 1 1 10.0 0.0 18 | MR| HR | MS |MR| HS
B [ 19 [ A9 1.3 328.8 -4.9 6 | 60.0 0.0 19 | MS [ MR [ MS [MS| HS
Bz | 20 Z3720 0.1 328.1 -5.1 3 | 30.0 0.0 20 [MR] MR [ MS |MS]| HS
b | 21 1351183 15 332.6 5.9 3 | 30.0 0.0 21 [ MS| MS [ MR|MS]| HS
BhheH | 22 [ RIK319 | -0.1 329.8 -6.6 2 1200 0.0 22 [MR] HR [ HR |MS| HS
FHheH | 23 HhH24 1.6 314.5 6.9 2 | 20.0 0.0 23 | MS| HR | MS [MS] HS
b | 24 M=E182 | -0.6 327.2 -74 2 1200 0.0 24 [ MS| MS [ MR|MS]| HS
el | 25 | JUaE257 | -0 311.2 -7.9 1 1 10.0 0.0 25 [MR] MR [ MR|MS]| HS
B | 26 | AA181 1.7 310.3 -8.2 5 | 50.0 0.0 26 [ HS| HR [ MS |HR| MS
S | 27 | #31704 | 0.6 309.9 -8.3 2 200 | 00 | 27 | MS| HR | MS |MS| HS
Huhsg | 28 | (EFL508 1.2 3124 9.7 4 | 400 | 00 [ 28 | HS| HS | MS|MS]| HS
B | 29 | & 15%5 1.1 316.8 9.7 2 | 20.0 0.0 28 [ HS | MS [ MR|MS]| HS
Huhse | 30 [ #5FE180 0.5 3089 (-107] 1 [ 100 | 0.0 | 30 | MS| HR | MS|MS|MS
el | 31 1S | -0 3087 [-120 | 0 0.0 0.0 31 [MS| HR [ MR|MS| MS
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